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COMMERCE

Course ID : 11219 Corse Code :  BCOMP/102C-2A

Course Title : Indian Economic Problems

Time : 2 Hours Full Marks : 40

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

”!Çþ’éôé²Ìyhsþßþi ¢‚…Äy=!œ ²ÌöìÙÀîû ›y˜ !˜öì”ÅŸ„þÐ

þ™îû#Çþyí#Åöì”îû ëíy¢½þî !˜öì‹îû ¦þy¡ìyëû vþz_îû !”öì“þ £öìîÐ

1. Answer any five of the following questions : 2�5=10

!˜Á¬!œ!…“þ öë ö„þyöì˜y þ™¤y‰þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç :

(a) Discuss the primary sector in the Indian economy

using appropriate examples.

vþzþ™ë%_« vþz”y£îû’ îÄî£yîû „þöìîû ¦þyîû“þ#ëû xíÅ˜#!“þîû ²Ìyí!›„þ …y“þ !˜öìëû
xyöìœy‰þ˜y „þîûÐ

(b) What do you mean by the disinvestment of the public

sector?

¢îû„þy!îû …yöì“þîû !î!˜öìëûy† îœöì“þ „þ# öîyGþÚ
(c) What do you mean by the "Green Revolution" in India?

¦þyîûöì“þ òò¢î%‹ !î²Õîóó îœöì“þ „þ# öîyGþÚ
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(f) What are the problems with measuring national

income in India?

¦þyîûöì“þ ‹y“þ#ëû xyëû þ™!îû›yþ™ „þîûöì“þ ¢›¢Äy=!œ „þ# „þ#Ú

3. Answer any one of the following questions : 10�1=10

!˜Á¬!œ!…“þ öë ö„þyöì˜y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­

(a) Explain briefly India is a developing economy.

¢‚öìÇþöìþ™ îÄy…Äy „þîû ¦þyîû“þ ~„þ!Ýþ vþz§¬ëû̃ Ÿ#œ xíÅ˜#!“þÐ

(b) What is Globalisation? Briefly discuss the impact of

globalisation on the Indian economy. 2+8

!îÙ»yëû̃  !„þ Ú ¦þyîû“þ#ëû xíÅ̃ #!“þöì“þ !îÙ»yëûöì˜îû ²Ì¦þyî ¢‚öìÇþöìþ™ xyöìœy‰þ˜y
„þîûÐ
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(d) What do you mean by GST? Is the Goods and Services

Tax (GST) a direct or indirect tax ?

!‹ ~¢!Ýþ îœöì“þ „þ# öîyGþÚ þ™’Ä ç þ™!îûöì¡ìîy „þîû (GST) ~„þ!Ýþ ²Ì“þÄÇþ
îy þ™öìîûyÇþ „þîûÚ

(e) Describe two causes industrial sickness.

!ŸÒ x¢%ßþi“þyîû ”%!Ýþ „þyîû’ î’Å̃ y „þîûÐ

(f) Which plan is called the "Mahalanobis plan"? When

did it begin?

ö„þy˜ þ™!îû„þÒ˜yöì„þ òò›£œöì̃ y!î¢ þ™!îû„þÒ˜yóó îœy £ëûÚ ~Ýþy „þ…˜ Öîû&
£öìëû!ŠéœÚ

(g) Provide two reasons for the Indian plan's failure.

¦þyîû“þ#ëû þ™!îû„þÒ˜yîû îÄíÅ“þyîû ”%!Ýþ „þyîû’ vþzöìÍÔ… „þîûÐ

(h) Give two problems with agriculture in India.

¦þyîûöì“þ „,þ!¡ì !˜öìëû ”%!Ýþ ¢›¢Äy ”yçÐ

2. Answer any four of the following questions : 5�4=20

!˜Á¬!œ!…“þ öë ö„þyöì˜y þ‰þyîû!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­

(a) What do you mean by "Commercial bank"? Briefly

discuss the function of RBI. 2+3

òòîy!’!‹Ä„þ îÄy‚„þóó îœöì“þ !„þ öîyGþÚ RBI éôé~îû „þyëÅyîœ# ¢Á™öì„Åþ
¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þîûÐ

(b) What do you mean by "Disguised unemployment"?

What is the reason for the increase in unemployment

in India?

òòŠépöìîŸ# öî„þyîûcóó îœöì“þ „þ# öîyGþÚ ¦þyîûöì“þ öî„þyîûc î,!kþîû „þyîû’ „þ#Ú

2+3

(c) What do you mean by "Balance of payment"? What do

you mean by export promotion and import substitution

in India?

òòîÄyöìœª xšþ öþ™öì›rÝþóó îœöì“þ !„þ î%GþÚ ¦þyîûöì“þ îû®y!˜ ²Ì‰þyîû ~î‚

xy›”y!˜ ²Ì!“þßþiyþ™˜ îœöì“þ „þ# öîyGþÚ 1
2
2 + 1

2
2

(d) What do you mean by the land reform programme?

What is the problem with rural agricultural credit in

India?

¦)þ!› ¢‚ßþñyîû „þ›Å¢)!‰þ îœöì“þ „þ# öîyGþÚ ¦þyîûöì“þ @ùÌy›#’ „,þ!¡ì }öì’îû ¢›¢Äy

„þ#Ú 2+3

(e) What do you mean by "Poverty"? What are the

measures taken by the government from time to time

for the eradication of poverty?

òò”y!îûoóó îœöì“þ !„þ î%GþÚ ”y!îûoÄ !îöì›y‰þöì˜îû ‹˜Ä ¢îû„þyîû ¢›öìëû ¢›öìëû

„þ# „þ# îÄîßþiy @ùÌ£’ „þöìîûÚ
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